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Ratio to ATLAS

13000 GeV pp tt

H*"} [1/Gev]

— [ i L L L L L B N B By =N
B — 13
B ttHT (ATLAS semileptonic ttbar) 13
: o
o | — ™
10 — =\
— mle)
| |
B |+
™
B 1o
>
107 =
i |z
o™
3
104 &= ®  ATLAS —a
~ = Pythia 6.428 359 13
— —7A— Pythia 6.428 370 — i
- Pythia 6.428 a JIE
---¥-- Pythia 6.428 dw e
107° — —o— Pythia 6.428 p0 — €
- ¥ Pythia 6.428 pro-q20 48
— 2
u 8
— -1 &
(&)
I I R S ST (U TR AU AU NP AU NN SO SN SR AR P N -
: T | T T T T | T T T T | T T |-Ar“‘).fv‘ | T T T T |:
2 E -2
- A _ .
14— i — 1
Forrg W i
0.5 —0.5
1 " | " 1 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
500 1000 1500 2000 2500

H*Y [GeV]



	Contents
	Page 1


